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�D4=<FO >ED4==OE 7>= EGM5EF6GNM<E 747>D4E?D545?<F5?L=OE E5F5=,
D4E?>?>65==OE 6 �>?>44DE>>< <G=<F<?4?L=>< >>DG75 �<657>D>4E>>=

>5?4EF<

1. «%5FL 747>D4E?D545?5=<O ED54=57> 446?5=<O > 6<?O< 4><4< ?> G?<F5
&5=FD4?L=4O, 7. �>?>44DE>, D4=>= �>?>44DE><= (>>4 >5N5>F4: 152-21-102-
008760)», =47=4G5=<5: �47>?D>6>4 ED54=57> 446?5=<O, ?D>FO65==>EFL: 282 <,
44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, �>?>44DE><= D4=>=, 7.
�>?>44DE>, ?> G?<F5 &5=FD4?L=4O (>444EFD>6O= =><5D 52:22:1100002:1880)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 522815.94 2164509.13 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 522828.00 2164501.03 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 522832.62 2164499.82 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 522834.27 2164499.43 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 522850.06 2164498.43 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 522850.31 2164502.42 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 522834.85 2164503.41 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 522833.58 2164503.70 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9 522829.66 2164504.73 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

10 522817.85 2164512.66 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

11 522819.63 2164538.47 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

12 522813.53 2164554.43 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

13 522806.13 2164582.02 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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14 522804.99 2164601.48 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

15 522816.42 2164614.15 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

16 522813.76 2164620.82 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

17 522835.38 2164638.08 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

18 522844.20 2164690.57 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

19 522860.93 2164691.82 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

20 522859.95 2164708.57 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

21 522866.28 2164718.69 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

22 522868.37 2164721.15 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

23 522865.32 2164723.74 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

24 522863.04 2164721.05 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

25 522855.89 2164709.61 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

26 522856.71 2164695.52 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

27 522840.78 2164694.33 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

28 522831.68 2164640.26 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

29 522808.94 2164622.10 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

30 522811.78 2164614.99 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

31 522800.89 2164602.92 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

32 522802.17 2164581.38 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

33 522809.71 2164553.19 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

34 522815.57 2164537.87 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

35 522813.78 2164511.77 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

36 522813.63 2164509.26 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 522815.94 2164509.13 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?.,
�>?>44DE><= <G=<F<?4?L=O= D-=, 7>D>4E>>5 ?>E5?5=<5 D. ?. $5L5F<E4, G?.
�5?57=>4>D>6=4O, 4. 14 (�-1-0033�/2022/��/��)», =47=4G5=<5: �47>?D>6>4
=<7>>7> 446?5=<O, ?D>FO65==>EFL: 12 <, 44D5E: $>EE<=E>4O $545D4F<O,
�<657>D>4E>4O >5?., �>?>44DE><= <G=<F<?4?L=O= D-=, 7>D>4E>>5 ?>E5?5=<5
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D. ?. $5L5F<E4, G?. �5?57=>4>D>6=4O, 4. 14 (>444EFD>6O= =><5D
52:22:1300003:11787)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 519283.08 2173004.39 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 519299.25 2173004.19 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 519299.29 2173008.19 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 519283.13 2173008.39 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 519283.08 2173004.39 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?.,
�>?>44DE><= D-=, D. ?. $5L5F<E4, G?. �D>?5F4DE>4O, 4. 33 (�-1-
0281�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O,
?D>FO65==>EFL: 12 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?.,
�>?>44DE><= D-=, D. ?. $5L5F<E4, G?. �D>?5F4DE>4O, 4. 33 (>444EFD>6O= =><5D
52:22:1300003:11780)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 518298.90 2171718.03 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 518296.86 2171715.12 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 518287.96 2171707.07 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 518290.64 2171704.11 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 518299.88 2171712.46 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 518302.17 2171715.74 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 518298.90 2171718.03 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4. «%5FL 747>D4E?D545?5=<O 6OE>>>7> 1 >4F57>D<< < =<7>>7> 446?5=<O >
6<?O< 4><4< ?> G?<F4< �5E=4O, �4D5G=4O, D. ?. &5=FD4?L=O=, �>?>44DE>>7>
D4=>=4, �<657>D>4E>>= >5?4EF< (152-21-102-000008)», =47=4G5=<5:



4

�47>?D>6>4 6OE>>>7> < =<7>>7> 446?5=<O, ?D>FO65==>EFL: 1464 <, 44D5E:
$>EE<=E>4O $545D4F<O, ?> G?<F4< �5E=4O, �4D5G=4O, D. ?. &5=FD4?L=O=,
�>?>44DE>>7> D4=>=4, �<657>D>4E>>= >5?4EF< (>444EFD>6O= =><5D
52:22:0000000:2675)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 526991.15 2141478.82 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 526990.44 2141482.75 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 526991.13 2141482.88 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 526989.64 2141487.54 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 526993.45 2141488.75 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 526995.10 2141483.57 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 527015.37 2141486.93 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 527014.63 2141491.43 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9 527018.58 2141492.08 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

10 527019.34 2141487.43 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

11 527054.03 2141490.94 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

12 527064.10 2141492.18 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

13 527083.10 2141493.86 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

14 527082.44 2141498.32 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

15 527086.40 2141498.90 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

16 527087.08 2141494.25 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

17 527106.29 2141496.27 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

18 527105.77 2141500.89 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

19 527109.74 2141501.34 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

20 527110.28 2141496.59 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

21 527120.46 2141497.17 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

22 527120.80 2141495.73 �5F>4 E?GF=<>>6OE 75>457<G5E><E -



5

<7<5D5=<= (>?D545?5=<=), 0.10

23 527121.61 2141495.85 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

24 527122.02 2141499.94 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

25 527150.67 2141503.40 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

26 527171.02 2141505.48 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

27 527185.83 2141507.43 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

28 527186.82 2141507.57 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

29 527192.86 2141507.77 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

30 527192.64 2141510.09 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

31 527196.63 2141510.46 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

32 527197.04 2141506.03 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

33 527206.27 2141507.33 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

34 527215.30 2141525.20 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

35 527219.99 2141558.52 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

36 527220.18 2141558.85 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

37 527215.69 2141561.36 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

38 527217.64 2141564.85 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

39 527224.05 2141561.26 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

40 527235.32 2141551.45 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

41 527241.02 2141550.06 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

42 527241.74 2141549.86 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

43 527244.41 2141559.79 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

44 527252.78 2141601.33 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

45 527272.41 2141695.22 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

46 527281.45 2141738.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

47 527294.69 2141801.80 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

48 527295.71 2141808.64 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

49 527308.10 2141869.05 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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50 527316.16 2141900.01 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

51 527332.53 2141976.05 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

52 527329.79 2141976.71 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

53 527314.90 2141975.84 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

54 527315.21 2141971.37 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

55 527311.22 2141971.10 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

56 527310.92 2141975.47 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

57 527294.40 2141973.38 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

58 527260.40 2141971.09 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

59 527260.57 2141983.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

60 527252.82 2141983.29 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

61 527221.92 2141984.15 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

62 527222.06 2141988.15 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

63 527223.62 2141988.11 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

64 527224.37 2142000.24 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

65 527228.36 2141999.99 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

66 527227.62 2141987.97 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

67 527250.94 2141987.34 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

68 527251.11 2141991.79 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

69 527255.10 2141991.64 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

70 527254.94 2141987.29 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

71 527264.63 2141987.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

72 527264.46 2141975.37 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

73 527294.02 2141977.36 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

74 527312.58 2141979.71 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

75 527330.15 2141980.73 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

76 527333.71 2141979.88 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

77 527347.76 2142019.07 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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78 527339.77 2142020.58 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

79 527344.78 2142041.62 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

80 527353.47 2142039.69 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

81 527356.67 2142047.59 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

82 527373.07 2142088.04 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

83 527387.71 2142124.06 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

84 527407.72 2142176.61 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

85 527411.70 2142186.99 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

86 527413.72 2142194.69 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

87 527415.66 2142208.78 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

88 527415.95 2142225.08 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

89 527415.33 2142233.27 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

90 527411.96 2142243.33 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

91 527403.39 2142258.10 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

92 527399.77 2142263.13 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

93 527399.05 2142264.96 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

94 527394.67 2142269.99 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

95 527420.81 2142293.87 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

96 527430.68 2142303.20 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

97 527435.45 2142306.32 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

98 527438.92 2142306.96 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

99 527442.49 2142307.47 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

100 527443.05 2142303.51 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

101 527439.73 2142303.04 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

102 527440.11 2142302.54 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

103 527436.90 2142300.15 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

104 527435.73 2142301.72 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

105 527433.18 2142300.04 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -



8

106 527423.53 2142290.93 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

107 527400.25 2142269.67 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

108 527402.51 2142267.08 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

109 527403.31 2142265.07 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

110 527406.75 2142260.28 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

111 527415.62 2142244.99 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

112 527419.29 2142234.07 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

113 527419.95 2142225.20 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

114 527419.66 2142208.46 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

115 527417.64 2142193.91 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

116 527415.52 2142185.77 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

117 527411.46 2142175.19 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

118 527391.43 2142122.60 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

119 527376.77 2142086.54 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

120 527360.37 2142046.09 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

121 527357.43 2142038.81 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

122 527364.68 2142037.20 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

123 527360.54 2142016.54 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

124 527351.73 2142018.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

125 527336.87 2141976.85 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

126 527336.68 2141976.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

127 527320.06 2141899.09 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

128 527312.00 2141868.15 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

129 527300.04 2141809.85 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

130 527337.55 2141799.38 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

131 527337.74 2141800.62 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

132 527341.69 2141800.01 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

133 527338.69 2141780.71 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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134 527337.13 2141771.68 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

135 527361.00 2141771.63 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

136 527360.94 2141770.93 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

137 527364.14 2141770.55 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

138 527363.67 2141766.58 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

139 527360.63 2141766.94 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

140 527360.50 2141765.12 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

141 527356.51 2141765.41 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

142 527356.67 2141767.63 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

143 527332.39 2141767.68 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

144 527334.77 2141781.53 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

145 527336.93 2141795.40 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

146 527299.34 2141805.89 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

147 527298.63 2141801.10 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

148 527285.37 2141737.48 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

149 527276.33 2141694.40 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

150 527256.70 2141600.53 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

151 527248.31 2141558.87 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

152 527244.54 2141544.88 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

153 527240.00 2141546.20 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

154 527233.42 2141547.79 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

155 527223.71 2141556.25 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

156 527219.16 2141523.98 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

157 527208.89 2141503.67 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

158 527196.90 2141501.97 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

159 527190.57 2141501.63 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

160 527190.50 2141503.69 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

161 527187.16 2141503.57 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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162 527186.35 2141503.47 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

163 527171.48 2141501.50 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

164 527151.11 2141499.42 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

165 527125.68 2141496.36 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

166 527125.27 2141492.39 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

167 527117.76 2141491.19 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

168 527117.34 2141492.99 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

169 527108.67 2141492.50 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

170 527085.58 2141490.07 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

171 527064.52 2141488.20 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

172 527056.49 2141487.21 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

173 527059.13 2141467.80 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

174 527055.17 2141467.26 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

175 527052.52 2141486.76 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

176 527017.89 2141483.26 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

177 527016.43 2141483.05 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

178 527020.01 2141465.70 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

179 527016.10 2141464.89 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

180 527012.48 2141482.42 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 526991.15 2141478.82 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL,
�>?>44DE><= D-=, D. ?. &5=FD4?L=O=, G?. �4D5G=4O, 4. 8 (�-1-
0401�/2022/��/��/�)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O,
?D>FO65==>EFL: 2 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL,
�>?>44DE><= D4=>=, D. ?. &5=FD4?L=O=, G?. �4D5G=4O, 4. 8 (>444EFD>6O=
=><5D 52:22:0300006:358)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y
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1 2 3 4 5

1 527131.52 2141503.51 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 527131.85 2141500.38 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 527132.17 2141497.18 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 527136.15 2141497.58 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 527135.83 2141500.78 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 527135.50 2141503.93 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 527131.52 2141503.51 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

_______________



�$�������� 3
> ?D<>47G <<=<EF5DEF64

7D44>EFD><F5?L=>= 45OF5?L=>EF<
< D476<F<O 47?><5D4F<=
�<657>D>4E>>= >5?4EF<

>F _____________ 7 ______________

%>EF46 EGM5EF6GNM<E 747>D4E?D545?<F5?L=OE E5F5=, D4E?>?>65==OE 6 �>?>44DE>>< <G=<F<?4?L=>< >>DG75
�<657>D>4E>>= >5?4EF<

7 ?/?
�4<<5=>64=<5, =47=4G5=<5,

>E=>6=4O E4D4>F5D<EF<>4 >5N5>F4 �4D5E �444EFD>6O= =><5D
>5N5>F4

%>EF46 E5F<,
<4F5D<4? FDG5

'EF4=46?<645FEO
>ED4==4O 7>=4

1

«%5FL 747>D4E?D545?5=<O ED54=57>
446?5=<O > 6<?O< 4><4< ?> G?<F5
&5=FD4?L=4O, 7. �>?>44DE>, D4=>=
�>?>44DE><= (>>4 >5N5>F4: 152-21-

102-008760)», =47=4G5=<5:
�47>?D>6>4 ED54=57> 446?5=<O,

?D>FO65==>EFL: 282 <

$>EE<=E>4O
$545D4F<O,

�<657>D>4E>4O
>5?4EFL, �>?>44DE><=
D4=>=, 7. �>?>44DE>,
?> G?<F5 &5=FD4?L=4O

52:22:1100002:1880

�4DG6=O=
747>?D>6>4 ED54=57>

446?5=<O
?>?<MF<?5=, EF4?L

�4>?L FD4EE
=4DG6=OE
?>475<=OE

747>?D>6>4>6 <7
?>?<MF<?5=>6OE

FDG5 4?O
>5>7=4G5=<O FD4EEO

?D54GE<>FD5=4
G>?44>4 E<7=4?L=>=

?5=FO.
�ED4==4O 7>=4

747>D4E?D545?<F5?L
=>= E5F<

?D<=<<45FEO 64>?L
FD4EE =4DG6=OE
747>?D>6>4>6 3 6
6<45 F5DD<F>D<<,
>7D4=<G5==>=
GE?>6=O<<
?<=<O<<,

?D>E>4OM<<< =4
D4EEF>O=<< 2

<5FD>6 E >464>=



2

EF>D>=O
747>?D>6>44.

2

«�47>?D>6>4-66>4 > 6<?><G 4><G ?>
44D5EG: �<657>D>4E>4O >5?.,

�>?>44DE><= <G=<F<?4?L=O= D-=,
7>D>4E>>5 ?>E5?5=<5 D. ?. $5L5F<E4,
G?. �5?57=>4>D>6=4O, 4. 14 (�-1-
0033�/2022/��/��)», =47=4G5=<5:
�47>?D>6>4 =<7>>7> 446?5=<O,

?D>FO65==>EFL: 12 <

$>EE<=E>4O
$545D4F<O,

�<657>D>4E>4O >5?.,
�>?>44DE><=

<G=<F<?4?L=O= D-=,
7>D>4E>>5 ?>E5?5=<5 D.

?. $5L5F<E4, G?.
�5?57=>4>D>6=4O, 4.

14

52:22:1300003:11787

�4DG6=O=
747>?D>6>4 =<7>>7>

446?5=<O
?>?<MF<?5=, EF4?L

�4>?L FD4EE
=4DG6=OE
?>475<=OE

747>?D>6>4>6 <7
?>?<MF<?5=>6OE

FDG5 4?O
>5>7=4G5=<O FD4EEO

?D54GE<>FD5=4
G>?44>4 E<7=4?L=>=

?5=FO.
�ED4==4O 7>=4

747>D4E?D545?<F5?L
=>= E5F<

?D<=<<45FEO 64>?L
FD4EE =4DG6=OE
747>?D>6>4>6 3 6
6<45 F5DD<F>D<<,
>7D4=<G5==>=
GE?>6=O<<
?<=<O<<,

?D>E>4OM<<< =4
D4EEF>O=<< 2

<5FD>6 E >464>=
EF>D>=O

747>?D>6>44.

3

«�47>?D>6>4-66>4 > 6<?><G 4><G ?>
44D5EG: �<657>D>4E>4O >5?.,

�>?>44DE><= D-=, D. ?. $5L5F<E4, G?.
�D>?5F4DE>4O, 4. 33 (�-1-

0281�/2022/��/��)», =47=4G5=<5:
�47>?D>6>4 =<7>>7> 446?5=<O,

?D>FO65==>EFL: 12 <

$>EE<=E>4O
$545D4F<O,

�<657>D>4E>4O >5?.,
�>?>44DE><= D-=, D. ?.

$5L5F<E4, G?.
�D>?5F4DE>4O, 4. 33

52:22:1300003:11780

�4DG6=O=
747>?D>6>4 =<7>>7>

446?5=<O
?>?<MF<?5=

4

«%5FL 747>D4E?D545?5=<O 6OE>>>7>
1 >4F57>D<< < =<7>>7> 446?5=<O >
6<?O< 4><4< ?> G?<F4< �5E=4O,
�4D5G=4O, D. ?. &5=FD4?L=O=,

�>?>44DE>>7> D4=>=4,
�<657>D>4E>>= >5?4EF< (152-21-

102-000008)», =47=4G5=<5:
�47>?D>6>4 6OE>>>7> < =<7>>7>
446?5=<O, ?D>FO65==>EFL: 1464 <

$>EE<=E>4O
$545D4F<O, ?> G?<F4<
�5E=4O, �4D5G=4O, D.
?.&5=FD4?L=O=,

�>?>44DE>>7> D4=>=4,
�<657>D>4E>>=

>5?4EF<

52:22:0000000:2675

1. �4DG6=O=
747>?D>6>4 6OE>>>7>
< =<7>>7> 446?5=<=,
?>?<MF<?5=, EF4?L;
2. �47>D57G?OF>D=O=
?G=>F L>4D=>=

(�$�,)

�4>?L FD4EE
=4DG6=OE
?>475<=OE

747>?D>6>4>6 <7
?>?<MF<?5=>6OE

FDG5 4?O
>5>7=4G5=<O FD4EEO

?D54GE<>FD5=4
G>?44>4 E<7=4?L=>=

?5=FO.
�ED4==4O 7>=4



3

747>D4E?D545?<F5?L
=>= E5F<

?D<=<<45FEO 64>?L
FD4EE =4DG6=OE
747>?D>6>4>6 3 6
6<45 F5DD<F>D<<,
>7D4=<G5==>=
GE?>6=O<<
?<=<O<<,

?D>E>4OM<<< =4
D4EEF>O=<< 2

<5FD>6 E >464>=
EF>D>=O

747>?D>6>44.
�>>DG7 >F45?L=>

EF>OM<E
747>D57G?OF>D=OE
?G=>F>6 - 6 6<45
F5DD<F>D<<,
>7D4=<G5==>=

74<>=GF>= ?<=<5=,
?D>6545==>= =4
D4EEF>O=<< 10

<5FD>6 >F 7D4=<F
MF<E >5N5>F>6.

5

«�47>?D>6>4-66>4 > 6<?><G 4><G ?>
44D5EG: �<657>D>4E>4O >5?4EFL,

�>?>44DE><= D-=, D. ?.
&5=FD4?L=O=, G?. �4D5G=4O, 4. 8 (�-

1-0401�/2022/��/��/�)»,
=47=4G5=<5: �47>?D>6>4 =<7>>7>
446?5=<O, ?D>FO65==>EFL: 2 <

$>EE<=E>4O
$545D4F<O,

�<657>D>4E>4O
>5?4EFL, �>?>44DE><=

D4=>=, D. ?.
&5=FD4?L=O=, G?.
�4D5G=4O, 4. 8

52:22:0300006:358

�4DG6=O=
747>?D>6>4 =<7>>7>

446?5=<O
?>?<MF<?5=

�4>?L FD4EE
=4DG6=OE
?>475<=OE

747>?D>6>4>6 <7
?>?<MF<?5=>6OE

FDG5 4?O
>5>7=4G5=<O FD4EEO

?D54GE<>FD5=4
G>?44>4 E<7=4?L=>=

?5=FO.
�ED4==4O 7>=4

747>D4E?D545?<F5?L
=>= E5F<

?D<=<<45FEO 64>?L



4

FD4EE =4DG6=OE
747>?D>6>4>6 3 6
6<45 F5DD<F>D<<,
>7D4=<G5==>=
GE?>6=O<<
?<=<O<<,

?D>E>4OM<<< =4
D4EEF>O=<< 2

<5FD>6 E >464>=
EF>D>=O

747>?D>6>44.

_______________


